IR (166~180H) #1>TKT
SR ERED AL L e
LEOBT | mEorocy onmieE | 5 B -
REOHED | pmime | nmrp 5 @ 2
— mEE | 5 =
poE S e\ 2
AHFH RS AEOARBEORHIC 3 6 1 0 1 0
KEBERERBTOMD)NEET S
KEDBETH>T. —EEELULD
ERBAERD. RRDEED. S 3. 6% 7.1% 1.2% 0. 0% 1.2% 0. 0%
HENOETRUBEEFTEADET
#RLTWSEE N=84)
fixi B 1fn. (N=37) 2 5 1 0 0 1
5. 4% 13.5% 2. 7% 0. 0% 0. 0% 2.7%
Z Dth (N=53) 1 5 1 1 1 0
1.9% 9. 4% 1.9% 1.9% 1.9% 0.0%
# 6.5-3 REMREER L RE B EORR GEE B EREZICKT)
ER% (181 BB
SR EREDRAEA L 5
EEQHT REEMIE D= 012 1) NORIEHBE % % "
N Be
REOREE | smen | nmms rol %
whe e - mEE : %
&5t (N=42) 9 21 1 0 8 3
21. 4% 50. 0% 2. 4% 0.0% | 19.1% 7.1%
AxAEZE (N=27) 7 13 0 0 5 2
25. 9% 48. 2% 0. 0% 0.0% | 18.5% 7. 4%
PBLFH LIRS OAREFO RIS 0 1 0 0 1 1
KEBERERBTOMD)NEET S
KEDBETH>T. —EEELULD
EXEMEREN. EABERESD. 5B
I 0. 0% 33. 3% 0. 0% 0.0% | 33.3% 33. 3%
FRLTWLSESEN=I)
Bt oo (N=5) 0 4 0 0 1 0
0. 0% 80. 0% 0. 0% 0.0% | 20.0% 0. 0%
Z Dt (N=7) 2 3 1 0 1 0
28. 6% 42.9% 14. 3% 0. 0% 14.3% 0.0%
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